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(1)

{The sentence is written in the plain-style.}

izl =1/
|& <topic particle> /
Wz 5h

KO 371 < =near one’s house /

%Z <the particle which show the place which (X) go through (pass by)>/
EJO =

#H = everyday /

= AIFE

#%L T WK 9 = be taking a walk now

S AE

* B U £ 9 g3 = take a walk, stroll
* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

H. =but/
EE e
% H =today /

|& <topic particle> /
H5

Wo% & %5 & = the road which is different from the one which | usually walk on

* %5 = <plain-style-nonpast-affirmative> of %L\iﬂ" g1 = be different, differ, be wrong /
%Z <the particle which show the place which (X) go through (pass by)> /

ff%\m‘c HFUTc, =tried to walk

“ExET g1 = walk

* [te-form] & E 9 sg2 = try to do ~, do ~ and see how //

| take a walk near my house everyday, but today | tried to walk on the road which is different
from the one which | usually walk on.

5,375 = aimlessly, in a purposeless manner; idly, lazily, in an unproductive manner /
ff%m‘c L% = be walking now

* fﬁL\T L% = <plain-style-nonpast-affirmative> of i'}%b\‘c LWE 9 = be walking now /
“HExFT g1 =walk

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
&. =...andnaturally ....., ..... and consequently ..... /

EThsh =EIH Hh5 =from somewhere /

TED W IZEW A LT EFXUTc, =lit: A nice smell of flowers started to occur.
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— There was a nice of smell of flowers at somewhere

*(X) & (Y) D ITEWD ULERT = (X) smell (Y), (X) have (Y) smell

* [te-form] & E 9 = 1. go there to do .... and will be back 2. start to do, begin to do 3. (with
the past tense,) have been doing ... so far //

| was walking aimlessly, and then | found that there was a nice smell of flowers at somewhere.

%bl]o T W3 % D = the fragrance which (X) know /

7% DT, = [plain-style (but, ‘da’ of [na-adjective / noun] da’ becomes ‘na’.)] DI = 1 although
~, in spite of ~ 2 in orderto ~/

Fhh EARR %% 7% @ H = what kind of flower that is

* [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ must be omitted.)] " = <used as an indirect-

question>
* 1& D hH = <plain-style-nonpast-affirmative> of [plain-style (but, ‘da’ of {{na-adjective / noun] da’
becomes na’.)] ® T3 H=......, | wonder? — @ can be changed to A. /
,u\L\H:'.’eLiJe“AJT U 7z = couldn’t recall
,L,\L\.':I:.'ﬁi? = can recall, be able to recall = potential-verb of /L,\L\llj:ll L &9 g1 (recall,

remember) //

Although it is the fragrance which | know (I am familiar with), | couldn’t recall what kind of flower
that is.

TH. =but/

Z® &= =atthat time/

éﬁé%tgx = naturally/

it EAJT LWz ;R @ Z & = the things about the house where (X) lived in the past

* E/U'C“ L/ = was living = <plain-style-past-affirmative> of E/uT W& T (be living now)
* &cﬁi@“ g1 = live, reside, inhabit, dwell, reside in

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
%E <d|rect -object particle> /

UL\.':I:'. UZE Uz, =recalled, remembered //

But at that time, | naturally recalled my house where | used to live in the past.

1 =that/

|& <topic particle> /
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W 7R
HE O, = country5|de s/
(6=} o)

KW ED %5 %‘Z’C U7z. = (X) was the house which had a big garden //

That was the house which had a big garden and was located in the countryside.

fﬂﬁzt & *%H = my grandfather and grandmother /

H=also/

M—jfbﬁgtz = together /

&/v?“ W<, = &/U‘C“ WE U7z £ULT. =lived (was living) and .....

* &5’%?? g1 = live, reside, inhabit, dwell, reside in

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And
it is sometimes used to show reason as well. /

FWcs
ICEPH IR BHTUR, = (X) was lively everyday //

My grandfather and grandmother lived together as well and | spent lively days there.

ERD S WX HE Bz

BED KD BBFE» A &S ZDF =the girl named Akiko who lived next door /
& <accompan|ment particle> /
L%\‘Z{O) B HB lJ_I = the mountain which is behind my house
* 8 % = <plain-style-nonpast-affirmative> of & D £9 g1 = there is ~, have ~, exist /
|C <arrival particle> /
?L%ro fc D = part of [ta-form] D [ta-form] D UL &3’ =do ~, do ~ and do other things as well,
do many things such as doing ~ and domg ~

179 71 = <plain-style-past-affirmative> of ﬁé‘ 9 g1 (go)/
ﬁ< ) JII = nearby river /
|C <arrival particle>
?%9 fc D = part of [ta-form] D [ta-form] D UL F 9’ =do ~, do ~ and do other things as well,
do many things such as doing ~ and domg ~

ﬁ') fc = <plain-style-past-affirmative> of ﬁé‘ ¥9 g1(go)/
LT, =ULFU, £2LUT. =didand .....
*In this case, U X U fc is a part of ‘[ta-form] D [ta-form] D UL & U7z’ = did ~, did ~ and did
other things as well, did many things such as doing ~ and doing ~ /
— (X) went to the mountain which was behind his house, went to the nearby river and did other
things as well and ....... /
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& < =often/

Wo L &

—#&(C = together /
HZ
WOE U, =played //

| often played with the girl named Akiko who lived next door. We went to the mountain which
was behind my house, went to the nearby river and did other things as well to enjoy ourselves.

-
RO W ,L,\L\Hj'(?o = It is a nostalgic memory. (It is a memory which | really miss.)
* 72 DML LY = the feeling that you recall your old days and are attracted by it

ESULT =why/

&=
HDEF. = at that time /
oL T WX

H FAT Wk R @D Z & =the things about the house where (X) lived in the past

* fi/u'(“ L\fz = was living = <plain-style-past-affirmative> of fi/u’(“ W& 9 (be living now)

* %ﬂi@“ g1 = live, reside, inhabit, dwell, reside in

* [te-form] LWE 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

%i <direct -object particle> / i}

,L,\b\.':I:‘. L7c @ H = <plain-style> of ,L,\L\tﬂ L7c ®TY H =Did (X) recall, | wonder?

* [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] ® TI=...... ,  wonder ; ...... ,

| doubt ; ....., | want to draw your attention ; ....., | want to emphasize ; ....., | really want to say so
; because ...... — @ can be changed to A.

* [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ must be omitted.)] A" = <indirect-question> /
= why | recalled the house where | used to live in the past at that time /

bfzcU =1/

|& <topic particle> /

-1
AEFET U, = (X) is wonder (miracle, strange, mystery, marvel, curiosity

| wondered why | recalled the house where | used to live in the past at that time.

L\z_

Jﬂao T N5, = after going home,
* Uﬁa- N F9 g1 =go back, return; go home, return to the original location
* [te-form] 7'3\5 = after doing ~ /
Lb b b\bb/u

z & Ly LA
EEY ?H . fi8®D BE = my old photographs, photographs of my grandmother and
grandmother, etc/
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% <direct-object particle> /

%7375“5\ = while seeing

* [masu-form] 7&H%5 = while doing ~ /

LIE5 < =little while, for a while, short time later, for some time /
%%.i L #co =thought //

After reaching home, | thought of it for a while while looking at my old photos, photos of my
grandfather and grandmaother, etc.

LT =and/

%\tb fi/v’(“ Wi %% D % = the garden of the house where (X) lived in the past

* FE/U‘C“ L\/z = was living = <plain-style-past-affirmative> of &/U’C“ WZE T (be living now)
* &5’#&3‘ g1 = live, reside, inhabit, dwell, reside in

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
IC <existence particle> /

|& <topic particle> /

%étz 72 % = <plain-style-nonpast-affirmative> of %ét: 77D ¥9 g1 =it becomes spring

* [stem of i-adjective] < 7D £ T ; [na-adjective] IC & D ¥ I = become [adjective]

* [noun] IC 7& D ¥9 = become [noun] /

&. =...and naturally ..., ..... and consequently ...... /

E K TNER by % = small cute white flower

* To join the sentence which ends with [i- adjective / na-adjective / noun] T3’ to another
sentence, ‘[stem of i-adjective] < T or [stem of na-adjective / noun] ’is used . We call them

te-form of an adjective and a noun. To join adjectives, we also use te-form of an adjective. And it
is sometimes used to show reason as well. te-form of an adjective and a noun can be used in
either the nonpast sentence or the past sentence. * In addition to ‘[stem of i-adjective] < T,
‘[stem of i-adjective] < ’is also used to be more formal. /

50 5L 50

* Both /A& LY and /N& 7% means ‘small’. But, when we use /J\& 73, we always must have a
50 (&7 5 EOAN

noun right after it such as /A& %% 1& (a small flower) and /JL\\éfci HH LYY ‘TE (a small cute flower
In this case, ‘DMLY %tf is used as a noun in the whole phrase. ).

fc< & A =many, alot/

[EGL\‘C Lo Z & =the fact that (X) was blooming

* H%L\T LV/z = was blooming = <plain-style-past-affirmative> of H%L\T LWE 9 = be blooming
now

* ﬂ?@% £9 g1 =bloom

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

%Z <direct-object particle> /
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b Vs
BWHUZE U, =recalled //

And | recalled that many small cute white flowers were blooming in the garden of my house
where | used to live when the spring arrived.

(372

Z DTt = that flower /

|& <topic particle> /
= &5 #5

SHEZ zfﬁ\,\f L\/z & E = when (X) was walking on the road

* ?ﬁb\'c L\/z = was walking = <plain-style-past-affirmative> of fﬁb\f LWE 9 = be walking now
* [plain-style (but, ‘da’ of ‘[na-adjective] da’ and ‘[noun] da’ becomes ‘na’ and ‘no’ respectively.)]
& & =when (X) do (did, is doing, was doing, etc) ~ /

@D <possession particle> /

(37%

&% DTt = that flower /
&/

B

»E
B &D K£o7cDTTI, =(X)was the same aroma (fragrance, scent, smell), | really want to

say so.
* [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] ® TY=...... , | wonder ; ...... ,
| doubt ; ..... , | want to draw your attention ; ..... , | want to emphasize ; ..... , | really want to say so

; because ...... — @ can be changed to A.
B

*X) & (Y) ERUTY, =(X)is the same as (Y). //

Those flowers had the same scent as the one which | found when | was walking on the road
today. &

(128
{The sentence is written in the plain-style.}

Zh =that/

& <quotation particle> /

3 % = <plain-style-nonpast-affirmative> of 3 D £ 9" = there is ~, have ~, exist /
H. =but/

A

TRh
D & Hs =<plain-style> of {AID Z & TI H = what thing is (X)? /
There is 11 in the article, so what does it mean?
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= A E =Y 3)

BESD JmHRT %ﬁ_\ 41:75\ uaéb\‘c W3 X =the house, where flowers are blooming, which | saw

while taking a walk 8-

* %EEE'T = on the way

* %Tc = saw = <plain-style-past-affirmative> of %i? sg2 (see, watch, look)

* ﬂ%b\'( L\ % = <plain-style-nonpast-affirmative> of ﬂ;éb\f LWE 9 = be blooming now
* ﬂg&% £9 g1 =bloom

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

l\)

L:‘é't FAT L\t_ = the house where (X) lived in the past

* E/U‘C“ L\/z = was living = <plain-style-past-affirmative> of &/U’C“ WZE T (be living now)

* &5’#&3‘ g1 = live, reside, inhabit, dwell, reside in

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

i/

J: < =well, often /

M‘C W3 xR = = the house which resembles ~

* MT L% = <plain-style-nonpast-affirmative> of 1&’( LWE 9 =resemble, look like, be similar
* 1&&3’ sg2 = resemble, look like, be similar //

the house which is quite similar to the one where | lived in the past
(the house which resembles the one where | lived in the past well)

[

FEH D 5, é&%{b“ fi/u’?“ Lz %% = the house where | lived when | was a child

* fi/u'(“ L/ = was living = <plain-style-past-affirmative> of fi/u’(“ W& 9 (be living now)
* %ﬂi@“ g1 = live, reside, inhabit, dwell, reside in

* [te-form] LWE 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

N

ML Wo L& W2

HE
" —#lc &< TJ'?/uﬁ_ BHF5 v A D Z = the house of Akiko whom | often played with in the
past
HZ
* ¥ A 12 = played = <plain-style-past-affirmative> of Z}i@“ g1 (play)
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(129

oML W & ,L,\L\.':E a nostalgic memory /
& <quotation particle> /
3 % = <plain-style-nonpast-affirmative> of 3% D &£ 9 =there is ~, have ~, exist /
HY =but/
%ﬁitzﬁ‘ = for example /
ERTR %L\tﬁfﬁ = <plain-style> of & A% ,.J\L\.':HTﬁ'b\ what kind of memory is (X)? /
& <quotation particle> /
%9 C L% = <plain-style-nonpast-affirmative> of %o T WX =be saying now
* %L\i? gl =say/
HY <question particle> //
®5 T

There is 722 H L L B UL\ in the article, so according the author, for example, what kind of

memory is it?

b Wz

I‘?’E(D EX?) F“L\ F &< ‘T'_I") fco =1 often went to a big garden of my neighboring house.
179 fc = went = <plain-style-past-affirmative> of 17% &9 g1(go)//

S z & HZ =
HR & HED HED (T Ko = My grandfather and grandmother often came to play with me.
HZ = HZ =
* W (T kT = came to play = <plain-style-past-affirmative> of 0" IC 3k E 9 (come to play)
=
* [masu-form] (Z 3£ &9 = come to do ~

w

o) Ee (37

REET H?E vhE EZ Eﬁ_o = | saw flowers i in the garden with Akiko.
2
* B fc = saw = <plain-style-past-affirmative> of %i’@“ sg2 (see, watch, look) //

4
9:15(:“5 Wo L & P x Mo {7)% .
KoEE —HEIC 1L )T #EATE, =1 played in the mountain, the river, etc with my friend.
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/u?'l. = played = <plain-style-past-affirmative> of Z)*i@“ g1 (play)

RhL&S H
CDOXEZ EW )\ = the person who wrote this sentence (article) /

|& <topic particle> /
S AIFE
D & =< =when (X) take a walk

* [plain-style (but, ‘da’ of ‘[na-adjective] da’ and ‘[noun] da’ becomes ‘na’ and ‘no’ respectively.)]
t % = when (X) do (did, is doing, was doing, etc) ~ /
it EAJT b\h R D T & =the things about the house where (X) lived in the past
* E/U'C“ L/ = was living = <plain-style-past-affirmative> of E/uT W& T (be living now)
* &cﬁi@“ g1 = live, reside, inhabit, dwell, reside in
* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
% <direct-object particle> /
,u\b\.':rlﬂ U o @ = the fact that (X) recalled
iib\éﬂ U 7z = recalled = <plain-style-past-affirmative> of ,.J\L\H:'. L ¥ 9 g1 (recall, remember) /
|& <topic particle> /
IR EH = <plain-style> of 7R E T I H = why is (X)?
& <quotation particle> /

AN
# Z T L\ % = <plain-style-nonpast-affirmative> of %K’C L E 9 = be considering now
MAD

* & Z £9 g2 = consider, think over /
HN <question particle> //

According the author who wrote this article, what is the reason why he recalled the house where
he lived in the past while taking a walk?

—

L N

E/uT Lz =R S D r = the garden of the house where (X) lived in the past

* E/U’C“ L\fz = was living = <plain-style-past-affirmative> of fi/u’(“ W& 9 (be living now)

* &rﬁi@“ g1 = live, reside, inhabit, dwell, reside in

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

IC <existence particle> /

ﬂ?&b\‘c L/ @ = the one which was blooming

* ﬂ%b\'( L/ = was blooming = <plain-style-past-affirmative> of ﬂ;éb\'( WZE I = be blooming

now
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=
*BKZE XTI g1 =bloom
* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
&/
ERLoN . % &
B U D &FD =the scent of the same flower
¥ <subject particle> /
U 7z = did = <plain-style-past-affirmative> of L &3 g3 (do)
Bx (37

&
*EUC TED &FED A UEXT = (X) have the scent of the same flower, (X) give off the smell of the

same flower /
M5 =because ~ //

because there was the scent of the same flowers as the ones which were blooming in the
garden of his house where he lived in the past

2
BHL Wi Kk

% &/-u?‘ We R D Elio = the garden of the house where (X) lived in the past

* fi/u'(“ L\fz = was living = <plain-style-past-affirmative> of fi/u’(“ W& 9 (be living now)
* %ﬂi@“ g1 = live, reside, inhabit, dwell, reside in

* [te-form] LWE 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
|C <existence particle> /

ﬂ%b\’( L/ @ = the one which was blooming

* ﬂ%b\'( L\V/z = was blooming = <plain-style-past-affirmative> of ﬂ;éb\'C LWZE 9 = be blooming
now

* ﬂ;é% &9 g1 =bloom

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
&/

% U Eb\ % = the same white flower /

%Z <direct-object particle> /

%TC = saw = <plain-style-past-affirmative> of %i@“ sg?2 (see, watch, look) /

M5 = because ~ //

because he saw the same white flowers as the ones which were blooming in the garden of his
house where he lived in the past

3

oL 7 Wz 5h #HE

H FAT W R O i< D & = the nearby road of the house where (X) lived in the past
El £l

* £ AT Lz = was living = <plain-style-past-affirmative> of (£ AT LWE T (be living now)
El

*{EHE T g1 =live, reside, inhabit, dwell, reside in

* [te-form] LWE 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
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IC <existence particle> /

ﬂ?&b\‘c L/ @ = the one which was blooming

* ﬂ%b\'( L\ 7 = was blooming = <plain-style-past-affirmative> of ﬂ;éb\'( WZE I = be blooming
now

* ﬂ%% ¥ 9 g1 =bloom

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

&/

% U %ﬁd) § D = the scent of the same flower

¥ <subject particle> /

bgg —Lgld <pla|n style-past-affirmative> of L &9 g3 (do)

*BEU ED § D A LET =(X) have the scent of the same flower, (X) give off the smell of the

same flower /
M5 =because ~ //

because there was the scent of same flowers as the ones which were blooming on the nearby
road of his house where he lived in the past

4
Libtb FAT W xR %ﬁ 0) < 0) = the nearby road of the house where (X) lived in the past

* E/UT“ L/ = was living = <plain-style-past-affirmative> of &/u?“ W& T (be living now)

* fié’%i? g1 = live, reside, inhabit, dwell, reside in

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

IC <existence particle> /

[EGL\‘C L/ @ = the one which was blooming

* H%L\T L\/Z = was blooming = <plain-style-past-affirmative> of H%L\T LWE 9 = be blooming
now

* ﬂ?@% £9 g1 =bloom

* [te-form] LWE 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

&/

*Io_fj U EL\ 1;12 = the same white flower /

%Z <direct-object particle> /

%7‘: = saw = <plain-style-past-affirmative> of %i@' sg?2 (see, watch, look) /

M5 = because ~ //

because he saw the same white flowers as the ones which were blooming on the nearby road
of his house where he lived in the past
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(2)

(S/bf) i%i’@ = vacant Iand empty lot

{%7’3‘ ic_o'C LR LY, ﬁbh? LR LY iiﬁl, = the land which has no bwldmg and is not used

* Lo’( LR LY = is not being built = <plain-style-nonpast-megative> of LD’C WX T (be being
bU|It now)

* 1_15 &9 g1 = be built

* [te-form] L E 9 = 1 be doing now 2 <situation, state> 3 <habitual repeated action>

* %bh? LVZ LY = be nor being used = <plain-style-nonpast-negative> of 19%1011? WZET (be
belng used now)

* ﬁbhi@“ passive-verb (be used) of ﬁb\i@“ g1 (use) //

I iF A

HATIE. =InJapan,/

1960 5% N5 = from around 1960, since around 1960 /

E?I = town /

\C <arrival particle> /

féjﬁéﬂb E'JL = a road, a building, etc /

3’%3; IC = one after another, successively /

26N, =2<BNT. =2 5N, £ULT. =(X)was made and ....

* D<K 5N fc = was made = <plain-style-past-affirmative> of 2 < D £9 g1 (make, create,

manufacture)
* Both [masu-form] and [te-form] are used to join sentences, but [masu-form] one is more
formal. /

Kib’(b ""é‘iﬁ! a park, a vacant land, etc /

75\ <subject particle> /

’“b@“’) = little by little / “

ﬁU 57T &7, =have been being sharpened = <plain-style-past-affirmative> of %_'9]5%'( =X
9" = will have been being sharpened ‘

* %ﬁ%hi@“ = passive-verb (be sharpened) of %ﬁ N £ 9 g1 (sharpen, shave, plane, whittle,

pare, scrape off; reduce, curtail, expunge, cut down little by little)
* [te-form] & £ 9 = 1. go there to do ~ and will be back 2. start to do ~, beginto do ~ 3.

(with the past tense,) have been doing ~ so far //

In Japan, roads, buildings, etc were built one after another since around 1960 and parks, vacant
lands, etc have been being reduced little by little.
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N A

2D &5 & ETOD Z1t [T & > T. =because of the changes of the town like this N2 No.13B /
BLIHW

E4 T = outdoors /

Z HZ U &

¥ EH D B3 HFAT = the place where children play /

hHY <subject particle> /

t\‘f’/x:b&:’) . . . t\‘f/x:b&:’)

A UTeo = decreased = <plain-style-past-affirmative> of J&4* U £ 9 g3 (decrease, reduce,

lessen) //

On the outside, the places where children play decreased because of the changes of the town
like this.

ZULT. =and/

FEHD %EU % = the way of playing of children

* (A) @ [masu-form] H 7z = how to do (A), the way of doing (A) /

H =also/

N A D N A

Z{k LT =7, = have been changing = <plain-style-past-affirmative> of 21t LT =X 9 = will

have been changing
~N A H

Z{k L F 9 g3 =change
* [te-form] & £ 9 = 1. go there to do ~ and will be back 2. start to do ~, beginto do ~ 3.
(with the past tense,) have been doing ~ so far //

And the way of children’s playing also has been changing.

ShHU
===

= =old days/
L§t <topic particle> /
F &% = child /
Lat <topic particle> /
3 = outside /
C <particle which shows the place where the action takes place.>/
%E/S\‘ i) gb\') fc = often played = <plain-style-past-affirmative> of %E_/Si‘ i) gb\?‘?
(often play)
1_/3\ <plain-style- nonpast -affirmative> of 75’“0‘&@“ g1 = play
* [dictionary-form] Z & AY &L\T’é’ often do ~/
HY =but/
g =now /
|& <topic particle> /
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vEeDh

— AT, =alone/
LD7%W

Z=AT =in the room /
FLE=TV/

% <direct-object particle> /
%7‘: D . =part of Jta-form] D [ta-form] D U &9’ (do ~, do ~ and do other things as well, do
many things such as doing ~ and doing ~)
* %TC = saw = <plain-style-past-affirmative> of %i? sg2 (see, watch, look) /
' —L = game /
%Z <direct-object particle> /
U7fc D =part of [ta-form] D [ta-form] D U ¥ 9’ (do ~, do ~ and do other things as well, do
many things such as doing ~ and doing ~)
g5 EN 57\/\ = <plain-style-nonpast-affirmative> of 3% Z &M &L\Tﬁ‘ often do ~
* 9 % = <plain-style-nonpast-affirmative> of L& 9 g3 =do In this case, 9 % is a part of [ta-
form] D [ta-form] D U &9’ (do ~, do ~ and do other things as well, do many things such as
doing ~ and doing ~)
* [dictionary-form] & &HY % z L\‘C? often do ~ /
— (X) often watch TV in the room, play a game and do other things as well
(X) do many things such as watching TV in the room and playing a game //

In the past, children often played outside, but now they often watch TV in the room alone, play
the game alone and do the thing like that alone.

Z M Z & =this thing, this matter, this fact /

(& <top|c partlcle>/
Sile

—i’ ,mT = regarding two points /
F¥H75 = children /

IC <recipient particle> /

UpSfkly  ZWELS

BN &2 =serious (important, grave, weighty) influence (effect, impact)

% <direct-object particle> /

Hlc Hic

5 Z 1=, = gave = <plain-style-past-affirmative> of 5 X £ 9 g2 (give, present, award)
ZWE LS B

CHER ’%Li_i"g“ 92 = influence, affect

U5 ZWELS

CERG EEE 5% %9 = influence seriously //

This thing (fact) influenced children seriously regarding two points.

vE

—D E = the first one
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|& <topic particle>/
fehb &< ZWE &
A7) AN D EE = influence to one’s ‘physical strength’
Td S, = <plain-style-nonpast-affirmative> of ‘[na-adjective / noun] Td D 9 which is more

formal than ‘[na-adjective / noun] T9 =is (are, am, etc) //

The first point is the influence to their ‘physical strength’.

Wb &< SAES 5&5&

?t H D ENEEH I F'ﬁ?“%) FAE T |F = According to the survey (investigation,

examination, inquiry) about (regarding, concerning) children’s physical strength and exercise
N2 No. 62 /

49

ED. EJL/K\\ B3 R = running, jumplng throwmg etc

* %% <plain-style-nonpast-affirmative> of E NEI gl=run

* Ejlé&‘ = <plain-style-nonpast-affirmative> of EjEU*‘i@“ g1 =jump

* Tﬁﬁ% = <plain-style-nonpast-affirmative> of Tféﬁ‘iﬁ“ g2 = throw /

D/

%F%%E’?@ TC{%)??: the basic physical strength /

|& <topic particle> /

%j: D = than the past / \

%5 T W3, = <plain-style-nonpast-affirmative> of 5“%7‘5 T W& = be dropping now
* %E £ 9 sg2 = fall, fall down, drop

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

According to the survey about children’s physical strength and exercise, the basic physical
strength such as a run, a jump, a throw, etc becomes inferior than the past.

z&

4\ = outside /

C <particle which shows the place where the action takes place.>/

ﬁﬁifc = body /

%E <direct- object particle> /

Eﬂb\bT\ —#hd, ZLT. =moveand..

* Eﬂm\@' <plain-style-nonpast-affirmative> of E)J?b\ LZE9J g1 =move

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And
|t |s sometimes used to show reason as well. /

ERAA

.3 #2 = the chance when (X) play

H%

HZ
* 3bz.3 = <plain-style-nonpast-affirmative> of # (' & 9 g1 = play /
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— the chance when (X) move his body and play outside /

Y <subject particle> /

5)%JZ9 fc Z & =the fact that (X) decreased

* 7‘)%33 fc = decreased = <plain-style-past-affirmative> of ,)al N £9 g1 =decrease /

¥ <subject particle> /
TLEn WA Tufewn FhAWA

RAD JRATE = <plain-style-nonpast-affirmative> of & KD [RE T = (X) is the biggest
cause /

& <quotation particle> /

AW MAD

EZ 5N T W3, =<plain-style-nonpast-affirmative> of Z 2 51T LWEX 9 = be being
con3|dered now

* %Kbhi@“ passive-verb (be considered) or the potential-verb (can consider, be able to
consider) of %Z.i@' g2 = consider, think over

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

It is thought that the fact that the chances which children move their bodies and play outside
decreased is the biggest cause.

Byt &
—DH =the second one /

(& <topic particle> /

rﬁ:c’f = LY %J N D %fg;-——j = the influence towards ‘the way of associating (socializing)’
* h‘%/a\b\ %9 g1 = associate with, keep company with, go out with, go steady with, get on with
* (A) @ [masu-form] H 7z = how to do (A), the way of doing (A) /
Tdh D, = <plain-style-nonpast-affirmative> of ‘[na-adjective / noun] Td D &£ 9 which is more
formal than ‘[na-adjective / noun] T9 =is (are, am, etc) //

The second point is the influence to ‘the way of associating (socializing).

oL
& =old days, once upon a time, long ago, in early times, in old times /

|& <topic particle> /

i;ﬁfb ?c‘: © = children in the neighborhood /

Y <subject particle> /

m‘% IC = together /

9* outside /

C <particle which shows the place where the action takes place.>/

HZ . 215% :m'% .
W, =EAT, =ATZ, £UT, =played and ...
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/u?'l. = played = <plain-style-past-affirmative> of Z)*i@“ g1 =play

* Both [masu-form] and [te-form] are used to join sentences, but [masu-form] one is more

formal. /
At U

5h
g EAlC £3 2 = the differenced of ages and individualities (the differences caused by

age and individuality) N2 No.13B/
z <d|rect object partlcle>/

“b‘)\h'c\ = mb”)\#’wlo % UL T. =accepted and ..
H)\hﬁ_ = accepted = <plain-style-past-affirmative> of xH )\’(Li'i g2 (accept, receive)
* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And
it is sometimes used to show reason as well. /
T%%%L\ % =the way of associating (socializing)
* 1%‘%/;\\;\ &9 g1 = associate with, keep company with, go out with, go steady with, get on with
* (A) @ [masu-form] H/c = how to do (A), the way of doing (A) /
%i <direct-object particle> /

’D MLy S
& Lo = <plain-style-past-affirmative> of & U £ 39 g3 = learn, acquire knowledge /

A

In old times, children in the neighborhood played outside together, accepted the differences of
ages and individualities and learnt how to associate (socialize).

LA L. =but/

g =now /

Li <topic particle>/

E‘B}%T A’C B H#Fsﬁ = the time when (X) spend alone
* ‘ 18 9 = <plain-style-nonpast-affirmative> of 1 & L £ 9 g1 = spend, pass (time) /

75\ <subject partlcle>/

E< D, = E< To7T, = E< molcoe LT, =(X) became longer and ....

* 7& o fc = became = <plain-style-past-affirmative> of 72 D ¥9J g1 (become)

* [stem of i-adjective] < 7D ¥ ; [na-adjective] IC & D £I = become [adjective]

* [noun] IC 7& D i@“ become [noun] /

‘)/\UFE%V%%%# S5%< 1’!5117& L ?c‘: % = the children who can make human relations properly
“ e £ = cannot make, be able not make = <plain-style-nonpast-affirmative> of Enxd
(can make, be able to make) which is the potential-verb of ?’E N ¥9 g1 (make, create,

manufacture) /
HY <subject particle> /

3 3
X T ULEX o7z, =toone’s regret, (X) increased = <plain-style-past-affirmative> of 2T U X
L& 9 (to one’s regret, (X) increase)
B
* 8 X F£9 g2 =increase
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* [te-form] UL EWWEJ =1 to one’s regret, he does ~ 2 finish doing ~ completely /

But the time when children who spend in their rooms alone became longer now and the children
who cannot make human relations properly increased.

Zh H5 = hereafter, after this time, after this /
H =also/

Ic 1F A

F5
HA® E] = towns in Japan /

|& <topic particle> /
F>Th

FE LT WL 1255 = probably (X) will continue to develop

lF>Th [F>Th
* FE LT W< = <plain-style-nonpast-affirmative> of FE L T L\& £ 9 = continue to develop
* [te-form] L E E 9 = continue to do ~, keep doing ~, carry on doing ~

* [plain-style (‘da’ in [na-adjective / noun] da’ becomes ‘na’)] 7= S is the plain-style of TLU & 5

which means ‘1 Probably ....... 2 e , right? /

M. =but/

<1 =that/

A <subject particle> /

Z?tf;iiti gi% %ﬁé&j = lit: the influence which gives children /
® =also/

fok:2 by

BT WIFRW, = <plain-style> of =11 Tld WIF £ A = must not forget
nY

*SNET g2 =forget

* [te-form] (& W IFEEF A =must notdo ~ //

Probably Japanese towns will continue to develop from now on, but we also must not forget that
that fact influences children.

131

Z M Z & =this thing, this matter, this fact /

\d <topic particle> /

% = what /

% <direct-object particle> /

f‘a‘ LT W5 = <plain-style-nonpast-affirmative> of % LT WZE T = be pointing now

* ?%bi? g1 = point

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

M <question particle> //
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What is ‘this fact’ pointing out?

1
x5 1ah

By O @ T = in the town /

Zg = park

’(?:(X)’VJ( )(738) X, Y, etc/

FEH D /3\ i@-Fﬁ = the place where chidden play /

¥ <subject particle> /

f% AT Efc, =began to increase = <plain-style-past-affirmative> of f%‘i? Z X9 (beginto
increase)

* i%‘i_i@“ g2 = increase

* [te-form] & E 9 = 1. go there to do .... and will be back 2. start to do, begin to do 3. (with

the past tense,) have been doing ... so far /
* Z & =the fact that ~ //

the fact that parks and the places where children play have begun to increase in the town.

& =old days, once upon a time, long ago, in early times, in old times /

Laf <topic particle> /

?t H N %%@5’*? B3R ZEH 5775\9 fc Z & =the fact that children often played outside of
the house /

* f_%_IS\ <plain-style- nonpast -affirmative> of O‘i@“ g1 = play

* [dictionary- form] ) %’77‘3\9 fc = often did ~ = <plain-style-past-affirmative> of [dictionary-
form] 2 &M % L\’C? often do ~ /

C & =the fact that ~ //

the fact that children often played outside of the house in old times

W2z 5> g

?é: HH —AT KD TR KDIT %> fz = children reached the point where they played
alone in the house

S\‘

HZ H%
* 3bz.3% = <plain-style-nonpast-affirmative> of #U'& 9 g1 = play
* K DIC 7& o fc = reached the point where (X) did ~ = <plain-style-past-affirmative> of
[dictionary-form] & 3 IC 7& D ¥ = reach the point where (X) do ~ /
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Z & =the fact that ~ //

the fact that children have reached the point where they played alone in the house.

WA <5
LRG| J:l:’\T in comparison with the past N2 No.6 /
e\ b
FEH 0N he 7 < 72 > T 7z = children’s physical strength began to disappear
* 78 < 7& o T &/ = began to disappear = <plain-style-past-affirmative> of 78 < 78> T X

(begin to disappear)
* 12 <72 D £ g1 =disappear, get lost

* [te-form] & E 9 = 1. go there to do .... and will be back 2. start to do, begin to do 3. (with

the past tense,) have been doing ... so far /
Z & =the fact that ~

the fact that children’s physical strength have begun to weaken in comparison with the past.

(132
/uiii
2D XE=TIE. = in this sentence (article)
Z & N A D
FEBITRES 1’L%> Z1t = the change which (X) can see in children

*

= 51 % = <plain-style-nonpast-affirmative> of Ebhi@“ which is the passive-verb (be
seen) or the potential-verb (can see, be able to see) of %i’é’ sg2 (see, watch, look) /
IC <existence particle> /

Lat <top|c particle> /

15’]2_ = for example /

E ATR B D =what kind of thing /

Y <subject particle> /

3 % = <plain-style-nonpast-affirmative> of 3% D £ 39 g1 = there is ~, have ~, exist /

& <quotation particle> /

%o C L% = <plain-style-nonpast-affirmative> of %D T WX =be saying now

* %b\i’é’ g1 =say

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
H" <question particle> //

According to this essay, for example, what kind of thing do we have regarding the changes
which we can see in children?
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vEeb U A

2*'( — AT 75’?/3\ M = the time when (X) play outside alone
i’f 3 = <plain- style nonpast-affirmative> of WU?@“ gl =play/

’j‘tﬂ: K B>27T. = ’}‘73 < #Z>fco £ULT. =became lesser and ....

* 7& o fc = became = <plain-style-past-affirmative> of 72 D £9 g1 (become)

* [stem of i-adjective] < %D £ T ; [na-adjective] IC & D ¥J = become [adjective]

* [noun] IC 7& D £9 = become [noun] /

k{;-\ﬁf = physical strength /

7'J\ <subject particle> /

,§E’C L%, = <plain-style-nonpast-affirmative> of é’:‘:’( LWZE 9 = be dropping now
;%75 X9 sg2 = fall, drop, fall down

* [te-form] LWE 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

The time when children play outside alone became lesser and their physical strength becomes
weak.

2 N

=Yl

17-|Va': E)J?b\éfdb\’c without moving one’s body
* EﬁJ?’J\ L &9 g1 = move, shift, operate
* [nai-form &L\ — 71X UWL\T] = without doing ~ /
%E/SR‘ Z & =the fact that (X) play
* ﬁ&i‘ = <plain-style-nonpast-affirmative> of %U“i‘é” gl =play/
Y <subject particle> /
igéi_’C\ = i%i.f:o % U7, =increased and ..
Z_ﬁ_ = increased = <plain-style-past-affirmative> ofi ZF 9 g2 =increase
* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And
it is sometimes used to show reason as well. /
TCT;-I\SD;; = physical strength /
75\ <subject particle> /
,§“5T W%, = <plain-style-nonpast-affirmative> of ,§7'5'C LWE 9 = be dropping now
7%5 £ 9 sg2 = fall, drop, fall down

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

The fact that children play without moving their bodies increased and their physical strength
becomes weak.
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RSy =t R

KEE D ﬁU @ T = while (X) is playing with his friends /

K L\ h%AL\% = the good way of associating (socializing)

* ﬁ%éi\ub\i@' g1 = associate with, keep company with, go out with, go steady with, get on with
* (A) @ [masu-form] H 7z = how to do (A), the way of doing (A) /

hH¥ <direct-object particle for the potential-verb> /

NCLS
FETZES L3IC Iao s =reached the point where (X) can learnt = <plain-style-past-
AL
affirmative> of FE TZ 2 LKDIC RN FXT = reach the point where (X) can learn
75 LS

FE TZE % = <plain-style-nonpast-affirmative> of %E" Ly g3 = learn, acquire knowledge //

Children have reached the point where they can learn the good way of associating while they
are playing with their friends.

TLEY F—LALH5S =from TV, a game, etc /

A T%Lééb\%c = the good way of associating (socializing)

* 1%%%\,\?3' g1 = associate with, keep company with, go out with, go steady with, get on with
* (A) @ [masu-form] H 7z = how to do (A), the way of doing (A) /

hHY <direct-object particle for the potential-verb> /
ML S

FETES L3IC I&ao s =reached the point where (X) can learnt = <plain-style-past-
AL
affirmative> of 28 TZ % K5 IC 72D £T9 =reach the point where (X) can learn
7':: <UpS AL S

ZE TZE % = <plain-style-nonpast-affirmative> of & U £ 9 g3 = learn, acquire knowledge //

Children have reached the point where they can learn the good way of associating from TV
programs and games.

RAL &S
Z M XET =in this sentence (article) /

—& LW\ 2Ly Z & =what (X) want say most /
|& <topic particle> /

R R

fAlhY. = <plain-style> of {AI T H = what is (X)? //

What is the thing which he wants to say most in this article?
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1
F>Th

F5

BT #EE = the development of the town /
hY <subject particle> /

FEH =child/

|C <recipient particle> /
b3 ZWEES

E\ 2 = bad influence /

%Z <direct-object particle> /

Hic

5 Z7T W3 Z & =the fact that (X) is giving now
Hic Sl

* 5 2 T W3 = <plain-style-nonpast-affirmative> of 52T \L\X 9 = be giving now
Hic

* 52 T g2 =give, present, award
* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
— the fact that the development of the town influences children badly /
[c/
R : sp3b .
AR UL T WTFRL, = <plain-style> of 72 U 7% < T WIF X A = must pay attention
(beware, be cautious, be careful)
B >5W

*3EFR U XTI g3 =beware, be cautious, be watchful, pay attention, be careful
* [nai-form 7&W—72 < T & WIFEREF A =mustdo ~ 7/

We must pay attention to the fact that the development of the town influences children badly.

2
x5 . [F->TA £ H W
ETHY FE L7\ 358, = when the town doesn’t develop
lF>Th lF->ThA

* #R& U72\\ = don't develop = <plain-style-nonpast-negative> of #& U &3 g3 (develop)

* Li%ﬁé = case, occasion, situation

* [plain-style (but, ‘da’ of ‘[na-adjective] da’ and ‘[noun] da’ becomes ‘na’ and ‘no’ respectively.)]
ﬁ%&é = when (X) do (did, is doing, was doing, etc) ~ /

FEH =child/

\C <recipient particle> /

) B - bad influence /

HY <subject particle> /

gﬂé Z & =the fact that (X) appear

* .':T:n'%) = <plain-style-nonpast-affirmative> of g:'. &9 g2 = appear, come forth; leave, depart /
%*LT & WIFRW, = <plain-style> of %h’( (& WIFEH A = must not forget

* ghi’é‘ g2 = forget

* [te-form] (& W IFEE A =must notdo ~ //
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We must not forget that a bad influence will appear from children (we must not forget that
children are influenced badly) when the town doesn’t develop.

FEH =child/

Lc_ <recipient particle> /

) B# - bad influence /

7'J\ <subject particle> /

H:'.’C L\ % = <plain-style-nonpast-affirmative> of tH’C LWE 9 = be appearing now

* H:.'i@“ g2 = appear, come forth; leave, depart

* [te-form] LWE 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
DT = [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] M C = because ~ /
% = town /

%z <direct- object particle> /

lF->ThA bck’)f._b\
REIT D HUOJ IREE = the state that (X) haven’t developed yet
lF>Th F->Th

* FE 9 % = <plain-style-nonpast-affirmative> of #E L £9 g3 = develop /
i</ ,\
7_; U7 IE5hY LW\, = <plain-style-nonpast-affirmative> of %i L [E5H WWTT =had
better restore
)=' U 7 = <plain-style-past-affirmative> of )=' L &9 g1 (restore, put back, return)
* [ta-form] (&5 HY LWWT T = had better do ~ //

Because a bad influence has appeared from children (Because children are influenced badly),
we had better restorer the town to the state that it (the town) hasn’t developed yet. 8-

3

_7zr EH =child/

IC <recipient particle> /

%\b\ %éggé; = bad influence /

%Z <direct-object particle> /

gi? U £ 5 = <plain-style-nonpast-affirmative> of 52T U XL X J =to one’s regret, (X)
give

* gii@“ g2 = give, present, award

* [te-form] UL EWLWE 9 =1 to one’s regret, he does ~ 2 finish doing ~ completely /

Z &b %S = <plain-style-nonpast-affirmative> of ‘[dictionary-form] Z & 3 D X I’ = there

are also times when ~ /
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hY. =but/
x5

H] = town /
|& <topic particle> /
%% U 7z 1E5HY L\ = <plain-style-nonpast-affirmative> of @%O% L E5H WWTT =had
better develop
EoTh EoTh

* ¥R U fc = developed = <plain-style-past-affirmative> of #E U £ 3 g3 (develop)
* [ta-form] (&5 HY LWWT T = had better do ~ //

There are times when it influences children badly (children are influenced badly), but the town
had better develop.
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